LF 3000® Push-In Fittings

. . Compressed air
Compatible Fluids Other fluids: please consult us 4’ a
Working Pressure Vacuum to 20 bar Q L
Working Temperature -20°C to +80°C — — e
Component Materials Technical alvmer nickel-olated brass. NER Stud Fitting, Female BSPP and Stud Run Tee, Male BSPP and Extended Stud Elbow, Male BSPP  Stud Elbow, Male BSPP and
P polymer, P ’ Metric Thread Metric Thread and Metric Thread Metric Thread
o ¢ o ¢ 4 o ¢ P4 oo ¢ 4
@ M5x0.8 31140419 , __M508 31930419 , M50 31690419 ediiiocning
8) 4 GI/8 31140410 G1/8 31930410 G1/8 31690410 . M7X1' 199 04
GI/4 31140413 ¢ _ Gl/B 31930610 M5x0.8 31690619 G1/);3 2133 g4fg
Stud Fitting, Male BSPT Thread  Stud Fitting, Male BSPP and g _GI/8 31140610 Gl/4 31930613 g _Mix1_ 31690635 G4 31990413
Metric Thread G1/4 31140613 8 G1/4 31930813 G1/8 31690610 M08 31990619
60 C & GI/8 31140810 G38 31930817 GI/4 31690613 M?"1' o
oD c & 8 Gi/4 31140813 Gi/4 31931013 G1/8 31690810 X
R1/8 31750410 10 8 M10x1 3199 06 60
G3/8 31140817 G3/8 31931017 G1/4 31690813
4 R4 31750413 M3x0.5 310104 09* M12x1.5 3199 06 67
Gi/4 31141013 Gi/4 31931213 10 GI/4 31691013 6
R3/8 31750417 M5x0.8 31010419 10 G1/8 31990610
4 G3/8 31141017 12 G3/8 31931217 Gi/4 31691213
R1/8 31750610 G1/8 31010410 12 G1/4 31990613
G3/8 31141217 Gi/2 31931221 G3/8 31691217
s R4 31750613 G1/4 31010413 12 s aat1221 i i 31931421 G3/8 31990617
R38 31750617 M5x0.8 31010619 Gi/2 31990621
R1/2 31750621 6 GI/8 31010610 M10x1 3199 08 60
R1/8 31750810 Gi/4 31010613 M12x1.5 3199 08 67
g R4 31750813 G1/8 31010810 g GI/8 31990810
s sirs 0821 . T xS R T L
Stud Branch Tee, Male BSPP BSPT Thread
R1/8 31751010 G1/2 31010821 Stud Elbow, Female BSPP Thread 4 ietric Threa’d G1/2 31990821
o R4 31751013 Gi/4 31011013 oD ¢ % c oD & Gi/4 31991013
R3/8 31751017 10 638 31011017 o ¢ @ 4 RiB 31290410 10 638 31991017
RI2 31751021 Gi/2 31011021 A G1/8 31920410 4 M5x0.8 31980419 ¢ _R1/8 31290610 Gi/2 31991021
Ri/4 31751213 Gi/4 31011213 G/4 31920413 M5x0.8 3198 06 19 R1/4 31290613 G1/4 31991213
12 R3/8 31751217 12 G638 31011217 6 G1/8 31920610 6 G1/8 31980610 g _ R1/8 31290810 12 G3/8 31991217
Ri2 31751221 Gi/2 31011221 G1/4 31920613 G1/4 31980613 R1/4 31290813 Gl/2 31991221
4 R3B 31751417 14 638 31011417 6 G1/8 31920810 g /B 31980810 0 R4 31291013 44 638 31901417
Ri/2 31751421 Gi/2 31011421 G1/4 31920813 G1/4 31980813 R3/8_ 31291017 Gl/2 31991421
5 R3B_ 31751617 5 G368 31011617 10 G1/4 31921013 10 Gi/4 31981013 12 R1/2_ 31291221 1o 638 31991617
Ri/2 31751621 Gi/2 31011621 G3/8 31921017 12 G1/2 31981221 14 R12 31201421 G2 31991621
*Bi-material O ring seal *Bi-material O ring seal

Compatible Fluids

Water, beverages, CO, (inert use)
Chemical fluids: please consult us

Working Pressure

Vacuum to 16 bar

Working Temperature

-10°C to +95°C

Component Materials

Bio-based polymer, stainless steel, EPDM

E / o

Plug-In Reducer

oo op1  FH
) 4 6 6366 04 06WP2
J 6 8 6366 06 08WP2
N ?P 9'? 10 6366 06 10WP2
Stud Fitting, Male BSPT Thread  Stud Elbow, Male BSPT Thread
o ¢ A o ¢ A D
6 R1/8 650506 10WP2 R1/8 6509 06 10WP2 ‘ 9'?
R1/8 6505 08 10WP2 6 R1/4 650906 13WP2
8 Ri/4 650508 13WP2 R3/8 6509 06 17WP2 Equal and Unequal Tube-to-
R3/8 6505 08 17WP2 R1/8 6509 08 10WP2 Tube Connector
R1/4 650510 13WP2 8 R1/4 650908 13WP2 oD E
10  R3/8 65051017 WP2 R3/8 6509 08 17WP2
R1/2 650510 21WP2 R1/4 650910 13WP2 6 6306 06 00WP2
1o _R3/8 65051217WP2 10 R3/8 650910 17WP2 8 6306 08 00WP2
R1/2 650512 21WP2 R1/2 6509 10 21WP2 10 6306 10 00WP2
i i iy 1o R3/B 65091217WP2 12 6306 12 00WP2
R1/2 650912 21WP2
4 S ‘
E e roR . E 77 g
Stud Connector, Female BSPT | 4 i
Thread - - Equal and Unequal Plug-In
Equal Single Y Piece Elbow
oD C
A o e oo A
¢ _R1/8 631506 10WP2
Ri/4 631506 13WP2 6 6340 06 00WP2 6 6382 06 00WP2
5 RI/4 63150813WP2 8 6340 08 00WP2 8 6382 08 00WP2
R3/8 631508 17WP2 10 6340 10 00WP2 10 6382 10 00WP2
12 6340 12 00WP2 12 6382 12 00WP2

Prestomatic Push-In Fittings

Sy
&
=
Stud Elbow, Male BSPT Thread
o C &)
R1/8 31090410
4 R1/4 31090413
R3/8 31090417
R1/8 310906 10
6 R1/4 31090613
R3/8 3109 06 17
R1/2 310906 21
R1/8 310908 10
8 R1/4 31090813
R3/8 31090817
R1/2 3109 08 21
R1/8 31091010
10 R1/4 31091013
R3/8 31091017
R1/2 31091021
R1/4 31091213
12 R3/8 31091217
R1/2 31091221
14 R3/8 31091417
R1/2 310914 21
16 R3/8 31091617
R1/2 310916 21

=

Stud Branch Tee, Male BSPT
Thread

o C &
4 R1/8 31080410
6 R1/8 3108 06 10
R1/4 31080613
8 R1/8 3108 08 10
R1/4 31080813
10 R1/4 31081013
R3/8 31081017
R1/4 31081213
12 R3/8 31081217
R1/2 310812 21

Equal and Unequal Elbow

oD oD &
4 4 3102 04 00
6 6 3102 06 00
8 3102 06 08
8 8 3102 08 00
10 310208 10
10 10 31021000
12 31021012
12 12 31021200
14 14 310214 00
16 16 310216 00

oD @D1 D1
, [ih) ' t
oD1 o2 a2
Equal and Unequal Tee Equal Bulkhead Connector Equal Bulkhead Elbow Plug-In Reducer Plug-In Increaser Single Banjo, Male BSPP and In-Line Manifold
Metric Thread
oo op1 PH oD &) oD & o1 002 4 o1 002 4 o &
4 4 3104 04 00 4 3116 04 00 4 313904 00 4 6 3166 04 06 6 4 3168 06 04 oD c E 4 G1/4 33100413
6 6 3104 06 00 6 3116 06 00 6 3139 06 00 8 3166 04 08 8 6 3168 08 06 4 M5x0.8 311804 19* 6 Gi/4 33100613
6 31040806 8 3116 08 00 8 313908 00 8 31660608 10 8 31681008 G1/8 31180410 8 638 33100817
8 s 31040800 10 31161000 10 31391000 6 10 316606 10 M5x0.8 311806 19* 0 Giz 33101021
10 31041000 12 31161200 12 31391200 12 31660612 6 Gi/8__ 31180610 12 G2 33101221
10— 3041012 14 31161400 14 31391400 o 10 31660810 G1/4 31180613
2 12 31041200 12 31660812 G1/8 31180810
0D1
Wb s 0 S "G aewen
12 31041612 12 14 31661214 1 G4 31181013 e, 2
16 oD G3/8 31181017 2 o
16 31041600 o0 : , ct
01 Equal and Unequal Tube-to- Bulkhead Connector, Female 4 3126 0400 Wi el e
Tube Connector BSPP Thread 6 3126 06 00 Manifold, Female BSPP and
8 3126 08 00 Metric Thread
oD  OD1 A o0 ¢ & 10 31261000
o . 4 31060400 68 31360410 12 31261200 c1 c2 &
Equal and Unequal Single Y 6 31060406 4 G4 31360413 Equal and Unequal Plug-in 002 1 G1/8 M5x0.8 3311191007
Piece 6 31060600 G1/6 31360610 Elbow Clip Strip for Tubes and 3311101302 |
oD oD1 E 6 8 310606 08 6 Gl/4 313606 13 oDi  0D2 E Fittings 3311101303
10 31060610 G338 31360617 Gl/4 G1/8 3311101304
4 4 3140 04 00 8 3106 08 00 G1/8 313608 10 4 4 318204 00 D1 ﬂD E w
6 31400406 8 10 31060810 8 4 31820604 Multiple Tee 3311101306
Gl/4 31360813 2 CLIP 0400
6 6 31400600 12 31060812 0 638 31351017 6 6 31820600 3311131702
8 31400608 | 10 31061000 G3/8 31361217 8 31820608 0D1  @D2 E 6 CLIP 06 00 3311131703
8§ 31400800 0 12 31061012 12 8 31820800 4 330406 04 8 CLIP 08 00 G3/8 G1/4 3311131704 |
8 Gl/2 31361221 8 6 330406 0 10 CLIP 1000
10 31400810 12 31061200 10 31820810 4 33040804 3311131705
12 G3/8 31361617 8 12 CLIP 1200
10 31401000 14 31061214 16 10 31821000 6 33040806 311131706
10 G1/2 313616 21 10 14 CLIP 1400
12 31401012 14 14 31061400 12 31821012 6 33041006
12 12 31401200 16 16 31061600 12 12 31821200 10 5 33041008

2! \ S
LIQUIfit® Cartridge Equal Bulkhead Union
oD & oD &
4 6300 04 00 6 6316 06 00WP2
6 6300 06 00 8 6316 08 00WP2
8 6300 08 00 10 6316 10 00WP2
50 cartridges per Carstick® 12 6316 12 00WP2
™ \ i
Equal and Unequal Elbow o ) ol
oD oD1 & | Equal Tee
4 4 630204 00WP2 oD E
6 630204 06WP2 6 6304 06 00WP2
6 630206 00WP2
6 8 6302 06 0BWP2 8 6304 08 00WP2
10 6304 10 00WP2
8 § 630208 00WP2 12 6304 12 00WP2
10 10 630210 00WP2
12 12 63021200WP2

(-
' Ql?

2/2 In-Line Ball Valve

o A
6 4020 06 00WP2
8 4020 08 00WP2
10 4020 10 00WP2
12 4020 12 00WP2

Pressure: 0 to 10 bar at 20°C

7 .

Check Valve mm - Inch
oD A
1/4 7992 56 00WP2
5/16 - 8 mm 7992 08 00WP2
3/8 7992 60 00WP2
1/2 7992 62 00WP2

Compatible Fluids Compressed air
Working Pressure 25 bar
Working Temperature -40°C to +100°C

Component Materials

Technical polymer, Brass, NBR

FS8UNPMB

@

Stud Fitting, Male Metric Thread

VSUNPB

45° Elbow, Male Metric Thread

o ¢ &

8 M16x1.5 V8UNPMB8M16
10 M22x1.5 V8UNPMB10M22

12 M16x1.5 V8UNPMB12M16
501
C

Branch Tee, Male/Female Metric

cC €

Thread
A

M12x1.5 M12x1.5 M12MMS8UB

M16x1.5 M16x1.5 M16MMS8UB

x ¥ oD E
E 2 6 M12x1.5 F8UNPMB6M12
§ 2 8 M12x1.5 F8UNPMB8M12
g i} M16x1.5 F8UNPMB8M16
= . . 10 M16x1.5 F8UNPMB10M16
90° Elbow, Male Metric Thread ~ 90° Side Tee, Male Metric 12 M16x1.5 FBUNPMB12M16
@ ¢ E Thread 16 M16x1.5 F8UNPMB16M16
M22x1.5 F8UNPMB16M22
o ¢ &
8 M16x1.5 C68UNPMK8M16
M22x1.5 C68UNPMK8M22 12 M16x1.5 RE68K12-10M16
12 M16x1.5 C68UNPMK12M16 12 M22x1.5 RE68K12-10M22 g
16 M22x1.5 C68UNPMK16M22 %
=
§ ()] 3
= D1 90° Elbow, Male Metric Thread
=)
2 _ o ¢ B
L F Elbow, Male Metric Thread Mi2x1.5 CS8UNPMB6M12
45° Elbow, Male Metric Thread gD oDl C E 6 M16x1.5 C8UNPMB6M16
M12x1.5 C8UNPMB8M12
o ¢ & | 8
12 10 M16x1.5 CS68K12-10M16 M16x1.5 G8UNPMB8M16
10 M22x1.5 V68UNPMK10M22 12 10 M22x1.5 CS68K12-10M22 12 M16x1.5 C8UNPMB12M16
12 M16x1.5 V68UNPMK12M16 M22x1.5 G8UNPMB12M22
M22x1.5 V68UNPMK12M22 16 M16x1.5 C8UNPMB16M16
16 M22x1.5 V68UNPMK16M22 M22x1.5 G8UNPMB16M22

Function Fittings

M22x1.5 M16x1.5 M16M16M22MMS8UB

S8UNPMB

Stud Branch Tee, Male Metric Threa

d

ct c2 4

10 M22x1.5 S8UNPMB10M22

12 M22x1.5 S8UNPMB12M22

¢

Drain Valve, Male Metric Thread

(H

M22x1.5

VDPF8UM22L13

WGG88B

c
01’

Bulkhead Union, Female Metric

Thread
C C1

M16x1.5 M16x1.5 M16WGG88BH27

M22x1.5 M16x1.5 M22M16WGG88B

c

Stud Test Point, Male Metric

Thread

c c1

M16x1.5 M16x1

.5 PPRF8UM16

M22x1.5 M16x1

.5 PPRF8UM22

Compatible Fluids All fluids compatible with the fitting and tubing 3 © So ,\ ~ o0 Compatible Fluids Compressed air, grease, lubricant, water... © .y ~
t material N ) : -
\t;ompone:[n 3n(;aberla S ; ; ] g 2 g 2 e, [ Working Pressure Vacuum to 30 bar (20 bar: 3699, 3609) 3 -
. acuum to ar 4
Working Pressure (20 bar: 3879 / 3979 and 3889/ 3989) ™ O TF o ®™ Q'P ' 9"{ Working Temperature -25°C to +150°C o T‘H Q“ﬂ 9'?
P Component Materials FDA chemical nickel-plated brass, FKM -to- _Pi :
Working Temperature 259C to +150°C Equal Bulkhead Connector Equal Tee Equal Straight Connector p p ?:lt::alzranch Tee, Male BSPT Equal Tube-to-Tube Connector One-Piece Cartridge
Stainless steel 316L, FKM, oD E E oD E E oD E E : oD c E oD E oD E
Component Materials Collet: 4 38160400 39160400 4 38040400 39040400 4 38060400 3906 04 00 /Q 4 3606 04 00 4 3600 04 00
stainless steel 303 (LF 3800), 316L (LF 3900) 6 381606 00 3916 06 00 6 38040600 3904 06 00 6 38060600 390606 00 ] 4 R1/8 3608 04 10 6 3606 06 00 6 3600 06 00
8 38160800 39160800 8 38040800 39040800 8 38060800 39060800 o " g RI/B 36080610 8 3606 08 00 8 3600 08 00
- » - 10 38161000 39161000 10 38041000 39041000 10 38061000 39061000 w i R1/4 3608 06 13 10 3606 10 00 10 360010 00
10 0 ;,. So , 12 38161200 39161200 12 38041200 39041200 12 38061200 39061200 Stud Fitting, Male BSPT Thread  Stud Elbow, Male BSPT Thread g _RIB 3608 08 10 12 36061200 12 36001200
S o \& @ 14 38041400 39041400 R1/4 3608 08 13 14 3606 14 00 14 360014 00
© © B K % oD c @] o C & 1o _RUA__ 36081013
o R3/8 360810 17
—— frr q ~ ~
Stud Fitting, Male BSPT Thread  Stud Fitting, Male BSPP & etric [E=j~3 P~ . R1/8__ 36750410 4 R1/8 36090410 5 Rys 260812 17 £
Thread D I o9 R1/4 36750413 R1/8 36090610
© QH ~ o & 6 14 R1/2 3608 14 21
oo c 4 & p— A A S8 Lo o 6 RI/8 36750610 RI/4 36090613 ’
4 R/G 38050410 39050410 Stud Elbow, Male BSPT Thread  J=§3 D | Tl Aivd__ 6750613 R1/8 36090810 ol
M5x0.8 38010419 39010419 ™ \ qual Stud Elbow 8 R1/4 36090813
6 glﬁ gggg gg :g gggg gg :g 4 i ssotoato ssotosto 00 € M & Y 8 RI/4 36750813 R3/8 36000817 © Equal Elbow 20 TEl LR LT
R1/8 38050810 39050810 M5x0.8 380106 19 3901 06 19 4 R1/8 38090410 39090410 One-Piece Cal‘tridge 0D E E R3/8 36750817 10 R1/4 36091013 s @D E oD E
8 Ri/4 38050813 39050813 6 G1/8 38010610 39010610 6 R1/8 38090610 39090610 oD E E 4 38020400 39020400 10 R1/4 36751013 R3/8 36091017 ™ QIF i 26390400
R3/5 3803 0817 3903 0817 G1/4 38010613 39010613 R1/4 33090613 39090613 6 38020600 39020600 R3/8__ 36751017 R1/4 36091213 4 3602 04 00 6 3639 06,00
g G1/8 38010810 39010810 R1/3 38090810 39090810 4 38000400 3900 0400 8 38020800 39020800 Ri/4 36751213 12 R3/8 36091217 Stud Branch Tee, Male BSPP 6 3602 06 00
10_R1/4 38051013 39051013 GI/4 38010813 39010813 | 8 6 38000600 39000600 10 38021000 39021000 12 R3/8 36751217 R1/2 36091221 and Metric Thread 8 3602 08 00 8 363908 00
R1/4 38051213 30051213 R1/4 38000813 30090813 10 363910 00
12 G1/4 38011013 39011013| 19 Ri/4 38091013 39091013 8 380008 00 3900 08 00 12 38021200 39021200 Ri2 36751221 R3/8 36091417 10 360210 00
R1/2 38051221 39051221 | |10 14 oD C E 12 36391200
G3/8 38011017 39011017 10 38001000 3900 10 00 14 R3/8 36751417 R1/2 36091421 12 3602 12 00
- - 12 38001200 39001200 Ri/2 36751421 , M5x08 36980419 14 360214 00 14 36391400
~c o o @ & = G1/8 36980410
SN -3y ¢ ® S ' £ o Gl/8 36980610
2 & 4 ©° B ot > Y G1/4 36980613 . 002
G1/8 36980810
e TSN Compact Stud Elbow, Male BSPT ~ Compact Stud Elbow, Male BSPP i 8 G4 36980813 o \
ud standpipe, Male Thread Thread Push-In Reducer i o1 O
Thread oc [ H o) %! Compact Elbow, Male BSPP 12 g;;g gggg :‘2’ :3
ﬂD C E E o C E E . 001 0D2 E E Stud Flttlng, Male BSPP and and Metric Thread 14 G1/2 3698 14 21 Equal e PIuQ-In Reducer
4 R1/8 38890410 39890410 4 G1/8 38790410 39790410  Blanking Plug 6 3866 0406 3966 04 06 Metric Thread oD c E oD E oD1  0D2 E
4 R1/8 38210410 39210410 ¢ _R1/8 38800610 39890610 ¢ _G1/8 38790610 3979 06 10 P E 4 = 32660408 3956 0408
¢ _R1/8 38210610 36210610 R1/4 38890613 39890613 G1/4 38790613 39790613 & 38660608 3966 06 08 o C & M5x0.8 3699 04 19 4 3604 04 00 6 36660406
R1/4 38210613 39210613 g R1/8 38890810 39890810 o G1/8 38790810 39790810 4 3826 04 00 6 40 38660610 39660610 V508 36010419 4 Méx1__ 36990452 6 3604 06 00 4 8 36660408
o _R1/8 38210810 39210810 R1/4 38890813 39890813 G1/4 38790813 39790813 6 3826 06 00 10 38660810 39660810 M6xT 3601 04 52 G1/8 36990410 8 3604 08 00 3 3666 06 08
R1/4 38210813 39210813 | 10 R1/4 38891013 39891013 ,, G1/4 38791013 39791013 8 3826 08 00 8 12 38660812 39660812 4 M 36010456 g _G1/8 36990610 i 10 35041000 ® 10 36660610
10 R1/4 38211013 39211013 1, R/4 38891213 39891213 G3/8 38791017 39791017 10 38261000 70 12 38661012 39661012 a1/8 36010410 G1/4 36990613 12 3604 12 00 10 36660810
12 R1/4 38211213 39211213 R1/2 38891221 39891221 12 G3/8 38791217 39791217 12 38261200 Mi0xT 38010660 G1/8 36990810 Stud Run Tee, Male BSPP and 14 36041400 8 0 3660812
Maximum 20 bar Maximum 20 bar 6 G1/8 3601 0610 8 G1/4 369908 13 Metric Thread 10 12 366610 12
Gi/4 36010613 G3/8 36990817 o0 ¢ H 12 14 36661214
GI/8 36010810 10 _GI/4 36991013
s Gia 36010813 G3/8 36991017 , M50.8 36930419 -~
a8 36010817 Gi/4 36991213 G1/8 36930410 ( ’
Gi/a 36011013 12 G3/8 36991217 ¢ G1/8 36930610 e
10 G3s 36011017 Gi/2 36991221 G1/4 36930613 ’
- 612 36011021 14 08 36991417 g 01/ 36930810 L LTI U o
a r e r e rIS G1/4 36011213 G1/2 36991421 G1/4 36930813 oD E Blanking Plug
12 638 36011217 10 G1/4 36931013 i 36160200
G1/2 360112 21 12 G3/8 36931217 5 3616 06 00 oD E
14 G2 36011421 © 4 G122 36931421 8 2616 0800 4 3626 04 00
10 361610 00 6 3626 06 00
12 3616 1200 8 3626 08 00
I 14 361614 00 10 3626 10 00
4 12 36261200
&4 Extended Stud Elbow, Male i 14 36261400

Product
Ranges

N

Stud Fitting, Female BSPP and
Metric Thread

g ¢ (&
M5x0.8 36140419

4 G1/8 36140410
G1/4 36140413

6 G1/8 361406 10
G1/4 36140613

8 G1/8 361408 10
G1/4 36140813

10 G3/8 36141017
12 G3/8 36141217
G1/2 36141221

BSPP and Metric Thread

0 & |
4 M5x0.8 3669 04 19
G1/8 3669 04 10

6 G1/8 3669 06 10
G1/4 3669 06 13

8 G1/8 3669 08 10
G1/4 3669 08 13

10 G1/4 36691013
G3/8 36691017

12 G1/4 36691213
G3/8 36691217

14 G1/2 3669 14 21

Single Banjo, Male BSPP and
Metric Thread

o C (&

4 M5x0.8 36180419
G1/8 36180410
M5x0.8 361806 19

6 G1/8 3618 06 10
G1/4 36180613

8 G1/8 3618 08 10
G1/4 36180813

10 G3/8 36181017

ol
Bulkhead Connector, Female
BSPP Thread

X/

o C &
4  G1/8 3636 0410
6 G1/8 3636 06 10
G1/4 3636 06 13

8 G1/4 36360813
10 G3/8 36361017
12 G3/8 36361217
G1/2 36361221

Plug-In Barb Connector

0D1  @D2 &
4 32 36220453
6 5 3622 06 05
8 6,3 36220856
8 3622 08 08
10 8 362210 08
12 10 36221210
12,5 36221262
14 12,5 36221462

Flow Control Regulators

Compatible Fluids

Compressed air

Working Pressure

11010 bar

Working Temperature

0°C to +70°C ; -25°C to +70°C (metal version)

oy .

Component Materials

Technical polymer, metal, stainless steel

Miniature Flow Reg. Exhaust,
Male BSPP and Metric Thread

e A

Miniature Flow Reg. Supply,
Male BSPP and Metric Thread

Miniature Flow Regulator
Exhaust, Male BSPT Thread

z&n  Nickel-plated brass

Nickel-plated brass

=i

Flow Regulator, Exhaust, Male

Compact Flow Regulator,

Non-Return Valves

Blocking Fittings

Pneumatic Sensor Fittings

Pressure Regulators

Compatible Fluids

Technical polymer: compressed air
Stainless steel: many fluids

Working Pressure

Technical polymer: 1 to 10 bar
Stainless steel: 0.5 to 40 bar

Compatible Fluids Compressed air Compatible Fluids Compressed air
Working Pressure 11010 bar Working Pressure 3to 8 bar
Working Temperature -20°C to +70°C Working Temperature -15°C to +60°C

Component Materials

Nickel-plated brass, technical polymer, NBR

Component Materials

Technical polymer, brass, NBR

Compatible Fluids:
Compressed air

Working Pressure:
Upstream pressure: 1 to 16 bar

Pressure Regulator, Male

BSPP and Metric Thread Exhaust, Male BSPP Thread Working T X Technical polymer: 0°C to +70°C Downstream pressure: 1 to 8 bar BSPP Thread
S @- S ’ﬁ_ 60 ¢ & 60 ¢ & 6D C & o B o c A orking femperature Stainless steel: -20°C to +180°C 2 ] o o Working Temperature: o0 ¢ &
- S A 0 g A 3 M3x0.5 7660 03 09 . M5x0.8 76690419 4 R1/8 766504 10 4 M508 71300419 &I 71000610 (-] 0 = 0 \ -10°C to +70°C 4 G1/8 73000410
er @- er @ . M5x0.8 76600319 G1/8 7669 0410 ,  RUB 76650610 MEX0B 71300419 g S8 TI0OGG10 Tochmical polymer eyl B~ e [ HEes = hﬂ Component Materials: i Ta00610
B R1/4 76650613 : o . — . = Technical polymer, nickel-plated
: g -MI05 76600409 ¢ M08 76600619 6 G1/8 71300610 Gi/8 71000810 o Blocking Fitting, Male BSPP Thread  Blocker/Flow Regulator, Male Pneumatic Sensor Fitting, Male  Pneumatic/Electric Sensor, Male/  peqs e " G1/4 73000613
Flow Regulator, with Recessed  Compact Flow Regulator, Male M5x0.8 7660 04 19 G1/8 7669 06 10 R3/8 76650617 ) N rass, nitrile 8 G1/4 73000813
N G1/4 713006 13 8 Gl1/4 710008 13 3 ] BSPP Thread BSPP and Metric Thread Female BSPP Thread
Adjustment Screw, Male BSPP  BSPP Thread G1/8 7660 04 10 G1/4 7669 06 13 R1/8 76650810 ©O oD c E i
and Metric Thread M5x0.8 76600619 G1/8 7669 0810 8  RI/4 76650813 G1/8 71300810 G3/8 71000817 — o C 2] c B c M Silencers
0 C gA B 6 ' 8 RY8 76650817 8 G614 71300813 Gi/4 71001013 In-Line Equal Non-Return Valve  Non-Return Valve, Female BSPP GI/8 78800610 o :
o ¢ Eth o s B | Exhaust Supply G1/8 7660 06 10 G1/4 7669 08 13 63/8 71300817 10 63/8 71001017 Thread 6 Gi/a 7880 0613 5 G1/8 788306 10 M5x0.8 781804 19" 6178 7828 0010 Compatible Fluids Compressed air
M5x0.8 701();: 19 701u1p34v19 2 618 70600110 70610410 g:g ;ggg gg :g 10 G1/4 71301013 14 G172 71001421 oD E E 8 G1/4 78800813 G174 78830613 G1/8 78180410 G1/4 78280013 Working Pressure Polyethylene: 0 to 10 bar, Sintered bronze: 0 to 12 bar
4 M5X0. ¢ 61/8 70600610 706106 10 _ l 7996 04 00 c DN G3/8 78800817 8 G1/4 78830813 G1/4 78180413 G3/8 78280017 ] Polyethylene: -10°C to +80°C
G1/8 70100410 70110410 G1/4 70600613 70610613 8  Gl/4 7660 08 13 Nickel-plat Stainless steel G3/8 78830817 *Boltzi ated steel Working Temperature | " oho .
plated brass G1/8 10 48901010 10 G3/8 78801017 oltZinG passivated stee G1/2 7828 00 21 Sintered bronze: -20°C to +150°C
M5x0.8 70100619 70110619 G1/8 70600810 70610810 G3/8 7660 08 17 £y 6 7996 06 00 _ J :
6G1/8 70100610 70110610 8 G1/4 70600813 70610813 @A ¢§~ 8 7996 08 00 G1/4 10 48901313 Soft Start Fittings Piloted Non-Return Valves Component Materials | Sintered bronze, brass, technical polymer
GI/4 70100613 70110613 G3/8 70600817 70610817 Nickel-plated brass . == [ @- : @- 10 799610 00 G3/8 15 48901717 o
618 70100810 70110810 61/ 70601013 70611013 Panel-Mountable In-Line One- . , A - A 12 7996 12 00 G1/2 15 48902121 Compatible Fluids: o Compatible Fluids: :
8Gl/4 70100813 70110813 '° Ga/3 70601017 70611017 - -@- Way Flow Regulator In-Line One-Way Flow Regulator 000004 Flow Regulator Exhaust, Flow Regulator Exhaust, Male/ G3/4 20 48902727 Compressed air 3 : Compressed air @.
G3/8 70100817 70110817 G3/8 70601217 - = A oD E oD E Male/Female BSPP Thread Female BSPP and Metric Thread Working Pressure: ~ - A
1o G1/4_ 70101013 70111013 | % Gi/2 70601221 70611221  Flow Regulator Exhaust, Male/ e ¢ H samessoeel | Non-Return Valve, Supply, Female | 301088 Working Pressure: : : _ _ _
G3/8 70101017 70111017 Female BSPP and Metric Thread 4 7776 04 00* 4 7770 04 00 c BSPP/Exhaust. Male BSPP Thread Soft Start Fitting for Isolating 11010 bar Piloted Non-Return Valve with Flow  Threaded Silencer, Male BSPP  Polymer Silencer, Male BSPP
19 63/8 70101217 - E 6 7776 06 00* 6 7770 06 00 Gi/8 71101010 M5x0.8 78101919 2 Working Temperature: Valve, Male BSPP Thread Working Tomoeraturs: Regulator and Exhaust, Male BSPP  Thread Thread
G2 70101221 - c 8 7776 08 00 8 777008 00 G1/4 71101313 G1/8 78101010 & c on £ -15°C 10 +60°C o C A oo o ¢ & c & c &
M5%0.8 71401919 10 7776 10 00 10 77701000 63/8 71101717 G1/4 78101313 -5°C to +60°C
G1/8 71401010 12 77761200 12 77701200 G3/8 78101717 / G1/8 10 48921010 Component Materials: 8  GI/A 78600813 . G1/8 78940610 G1/8 06700010 G1/8 06740010
G1/2 711021 21 Gl/4 10 48921313 Component Materials: 6
o] i ickel- G1/4 78601013 ) . G1/4 78940613 G1/4 06700013 G1/4 06740013
G1/4 71401313 G1/2 781021 21 Technical polymer, nickel-plated 10 Technical polymer. nickel-plated
G3/8 71401717 UEp a i — 638 15 48921717 brass, NBR G3/8 78601017 ’ g _ Gl/4 78940813 G3/8 0670 00 17 G3/8 067400 17
G172 718021 21 6172 15 48922121 12 G3/8 78601217 brass, NBR G3/8 78940817 G1/2 067000 21 G172 0674 00 21
[ ] L ]
Compression Fittings and Accessories Industrial Valves Quick-Acting Couplers
[ ]
. . — s Ball Valves and Industrial Blowguns
Component Materials | Brass Nickel-plated brass o | %@ = .
Water, machining oil, fuel, | Compressed air S éﬂﬁ“; g f§ = “ Q Universal Series Standard Series Stainless Steel Series C 9000 Polymer Quick-Acting Safety Couplers Metal Quick-Acting Couplers
Compatible Fluids hydraulic oil, compressed | Other fluids, please consult o LN ™ P=) o " " N . . o ; " . - " . -
air. chemical lids us Brass L SV Niokel-plated brass o Nickel-plated brass Brass Compatible Fluids Industrial fluids Compatible Fuids Compressed air, gas, water, water vapour, oil and Compatible Fluids: all fluids Compatible Fluids Compressed air Compatible Fluids Compressed air, water
Working Pressure | Vacuum to 550 bar Vacuum to 18 bar Equal Elbow Stud Fitting, Male BSPT Thread  Equal Stud Elbow, Male BSPT/ Internal Hexagon Head Plug, Working Pressure Vacuum to 40 bar all fluids compatible with the component materials Working Pressure: 0 to 65 bar Working Pressure 0 to 16 bar Working Pressure 0 to 20 bar
. Working T t -40°C to +80°C Working Temperature: Working Temperature -20°C to +60°C Working Temperature -20°C to +100°C
0900 series: 60 bar @D E oD C E Female BSPP Thread Male BSPT Thread orking Tempera _ure : 0 + Working Pressure 0030 bar o0 tg +15(;)°C g Temp : : + : g Temp : : +
. -40°C to0 +100°C c1 c2 E c E Component Materials Nickel-plated brass, NBR Working T : 20°C to +130°C Component Materials Technical polymer, nickel-plated brass, NBR Component Materials Nickel-plated brass, NBR
Working Temperature -60°C to +250°C 1900 series: -10° N 6 0102 06 00 R1/8  F3BPL4/6-1/8 orking lemperature - 0+ Component Materials: ] i P "
series: -10°C to +80°C 4x6 . - . Series IS0 B (DN 5.5): single shut-off = 1250 NI/min
8 0102 08 00 R1/4  F3BPL4/6-1/4 R1/8 G1/8 09130010 R1/8 0205 10 00 Component Materials Nickel-plated brass, PTFE Stainless steel 316L, PTFE Series IS0 B (DN 8): single shut-off = 2400 NI/min —O»—"%
10 01021000 R1/8_ F3BPL6/8-1/8 RI/4  GI/4 09130013 RI/4 020513 00 : S .
o , © 12 0102 12 00 6x8  R1/4 F3BPL6/8-1/4 R3/8  G3/8 09130017 R3/8 0205 17 00 : o . @
1 ip @ R3/8__ F3BPL6/S-3/8 RI2 G2 09130021 R1/2 02052100 | 38 m ‘
b= {;' ‘ o % gx10 —R1/4_ F3BPLE/10-1/4 R3/4  G3/4 09130027 R3/4 020527 00 Aty Adtls] SollL . Probe. with Barb Connecti
Brass Bress | o R3/8  F3BPL8/10-3/8 2/2 In-Line Ball Valve, Female  2/2 In-Line Ball Valve for Screw AATTE] -1 AEIN A3 | Coupler, Female BSPP Thread S, Ll B (Gl
= ; — : : =) & 10x12 R3/8  F3BPL10/12-3/8 c2 BSPP Thread Fixing, Female BSPP Thread - - R : Coupler, Male BSPP Thread Coupler, Female BSPP Thread — for Flexible Hose
Stud Fitting, Male BSPT Thread ~ Single Banjo with Captive Sealing S \1'3#\\; = ) 2/2 Standard In-Line Ball 3/2 In-Line Lockable Vented 2/2 In-Line Ball Valve, Female e Y c E _
@D C E Washer, Male BSPP Thread Brass = = % = DN c E DN c E Valve, Female BSPP Thread Ball Valve, Female BSPP Thread ~ BSPP Thread ©N) c E ©N) c E Gz 22122 oD E
5 - o 12
o B 0150610 oo ¢ [ Equal Tube-to-Tube Connector €3 ° o Nopated & . & Gie oa20410 7G4 64020713 DN ¢ B on ¢ A DN ¢ A o Ol i3 55 Sl sws1s G4 2r21221 p Bs awuw
rass .
R4 01050613 G 01180810 3 . 7 G1/4 04020713 10 G3/8 64021017 G4 29021013 .
R1/4 01050813 6 "G4 01180613 oD A Nickel-plated brass :nqat::l ;sn:TUTnhizt;zl Adaptor, Hex Head Plug, Male BSPP and 10 G3/8 04021017 13 G612 64021321 0 s 49021017 13 g;jg gzg:ygtggz 13 g;jg :g}g :’g }3 8 G2 940100821 8 G2 9414U0821
8 “Ras 01050817 g 614 01180813 6 0106 06 00 studlEhow;iMalele SETghread Metric Thread ;g g;ﬁ g:gi ;g 2; gg g?"‘ g:gg gg gz 15 G1/2 49021521 15 G1/2  BVG4-1/2L0CK 15 G2 48101521 =) ,\ 7
10 R4 01051013 G3/6 01180817 8 0106 05 00 o0 ¢© & Gl ¢c2 A c %] e poritasy 20 G3/4 49022027 20 G3/4  BVG4-3/4LOCK 20 G634 48102027 . 3 -
R3/8 01051017 1o _Gl/4 01181013 10 0106 10 00 R1/8 09000010 o1 _ 25 Gl 4902 25 34 25 Gl BVG4-1LOCK 25 Gl 48102534 o
G38 01181017 12 01061200 ag _R1/8  C3BPLA/G-1/8 R/ R4 09001013 M5x0.8 02201900 s2 GUA 04023242 40 G11/2  49024049* o Coupler, Straight-Through !
R1/4  C3BPL4/6-1/4 R3/6 09001017 G1/8 022010 00 *Models with EC marking 50 G2 4902 50 48* Probe. Male BSPP Probe, Female BSPP Thread ith B 'b c tion f I:I Water Pistol
o~ P fLDZ R1/8  C3BPL6/3-1/8 Ri4 09000013 61/ 02201300 . “Fiodels Wit EG iy robe, Male L with Barb Connection for Hose —
= @‘%‘I N w i < a 6x8  R1/4 C3BPL6/8-1/4 R4 "R3B 09001317 G3/8 022017 00 ] Mﬂ& MiniSeries c E oy ¢ E ) E o) E
e Bress | & } e %&/{ y R3/8 _ C3BPLE/-3/8 RI/2 09001321 G1/2 022021 00 Yy 55 Gi/4 908700613 Gi/4 90862313 12 22991201
e Voo Brass o 54 = 8x10 Ri/4__C3BPLB/10-1/4 R3/8 09000017 3/2 In-Line Vented Ball Valve, Compatible Fluids: 8' G1/4 9087U08 13 55 G3/8 9086 23 17 12 135 22971212
Stud Elbow, Male BSPT Thread - Brass R3/8  C3BPL8/10-3/8 R3/8 m J s 16.5 22971215
Self-Fastening Barb Connector Equal T 10x12 R3/8 C3BPL10/12-3/8 R1/2 090017 21 o Female BSPP Thread Compressed air ) G1/2 90862321
0D c E for Brass Compression Fitting qual Tee R1/2_ R1/2_ 09000021 3 / 2/2 In-Line Ball Valve, Male/ DN C E : . Mﬂg Industrial Blowguns o =
o y F le BSPP Thread Working Pressure: ME‘] 7y . . ~ : N
R1/8 01090610 oD ©D1 @D2 E @D =1 c2 o ‘ emale rea Vacuum to 10 bar o . - - Compatible Fluids: :
5 R4 01090613 5 01040600 & N - (=) o Elrg:g-plated DN C E 4 G1/8 04690410 2/2 In-Line Mini-Ball Valve 3/2 In-Line Mini BV with Vent Compressed air S
R1/4 01090813 6 63 13 01320656 o~ 7 G4 04690713 Working T ture: i : 4 0
8 RaB 01090817 8 63 13 01320856 13 g: g: ?g gg = Nickel-plated brass|  © Nickel-plated  Reducer, Male BSPT/Female 1 G 0a0i0410 10 G3/8 04691017 _Z%roé"t% fgl']'i(ga e oD & oD B ‘(')v?;';'(;'g:ess"re' =) i _
63 13 01321056 “to- o1 brass BSPP Thread 7 Gi/4 04010713 13 G172 04691321 6 7910 06 00 6 791306 00 - Standard, Lower Connection, Short ~ Safety Blowgun, Lower Blowgun Kit, Lower Connection
R1/4 01091013 10 12 010412 00 Equal Tube-to-Tube Connector Working T ture: i
0 "Ry ot091017 95 16 01321060 o M S ¢l c2 @ 10 G¥8 04011017 18 Gy4 04691827 Component Materials: 8 79100800 8 79130800 Yorking Temperature: Angled Nozzle, Female BSPP Thread  Connection, Female BSPP Thread ~ Female BSPT Thread
9.5 16 01321460 D emale real 13 G1/2 04011321 Technical polymer, NBR 10 79101000 10 79131000 - + ~ .
Y 127 19 01321462 o002 77x4 HBPL2.7/4 ¢l c2 H R1/4 G1/8 09041013 18 G3/4 04011827 12 79101200 12 79131200 Component Materials: ¢ A ¢ | ¢ |
= ; 4 127 19 01321862 £ ? z 46 HBPLA4/6 R3/8 G1/8 09041017 , . Technical polymer, NBR G1/4 35 06590013 Gl/4 3 06540013 R1/4 06310009
= : 159 23 01321866 = ‘ 1&% . 68 HBPL6/ Gi/g G1/8 09020010 R1/2 GI1/8 09041021 . Axial Valves
o ﬁ 22 191 27 01322269 = s G1/4 09021013 R3/8 G1/4 09041317
Brass rass 8x10 HBPL8/10 1% . .
- 1012 HBPL10/12 g/ G4 09020013 R G1/4 09041321 - Compatible Fluids:
Stud Fitting with Captive Sealing 3-Piece Reducer G3/8 09021317 G3/8 00041721 - I! 3/1; In-::ne \Ilenlt;adP Il;o_lt_:l:(ahle Ball Water, ai, oils, greases, etc.
Washer, Male BSPP Thread 8 o1 o2 A . cop S35 0020017 s G809 1727 = alve, Female BSPP Thread R e l a t e d P ro d u Ct R an g es
oD C & ° 8 01660608 = Gz Gz 09020021 3/3 Panel-Mountable Right-Angled = pN ¢ & Working Pressure: Normally Closed Axial Valve with  Normally Open Axial Valve with
Brass 2N Ball Valve, Female BSPP Thread 10D . .
6 10 0166 06 10 = -2 ar max. FKM Seal, Female BSPP Thread FKM Seal, Female BSPP Thread
G1/8 0101 06 10 S— L 7 G1/4 043907 13 Connection Solutions
6 G4 01010613 Brass Tube Support for 14 01660614 Nickel-plated brass - DN ¢ E 0 638 04391017 : : 0 LF 6270 Connectors for g
Polymer Tubing 10 01660810 Equal Tee ~ 7] 3 G2 04391321 ) C E C E for Life Sciences & Clean - s
Gi/4 01010813 | 8 o 4 Gi/3 04480410* Working Temperature: Optic Fibre Networks =
8 G358 01010817 gD1  @D2 E 12 01660812 =4 v 0 18 G3/4 04391827 0 o G3/8 42021017 20 G3/8 42121017 20 Rooms - ) =
oD A - = 6 G1/4 04480613 -20°C 10 +135°C 2 42021521 2 12 42121521 2
G1/4 01011013 10 14 01661014 o 9 03/8 04480917 23 Gl 04392334 G1/: 02 15 0 G1/. 5 0
0 “Gag 1011017 4 2 01270400 20 01661020 2,7x4_ JBPL2.7/4 G o — 63/4 420220 27 20 63/4 42122027 20
G174 01011213 6 4 01270600 46 JBPLA/G Tube Cutter Fluoropolymer Tape 12 G2 04481221 Component Materials: 61 4202253420 61 4212253420 . o I LIQUIfit+ Push-In -
12 8 6 0127 08 00 6x8  JBPL6/3 - Nickel-plated brass, FKM G1% 4202 40 49 20* G1% 4212 40 49 20* LIQUIfit® Push-In Fittings =
63/8 01011217 Working Pressure: 20 bar max P ’ Fittings
108 01271000 8x10 _ JBPL8/10 e 62 4202 50 48 20* G2 421250 48 20* with Metal Adaptors 8 itting
12 10 01271200 10x12  JBPL10/12 300071 00 06051212 *Models with EC marking *Models with EC marking
Technical Tubing and Hose e S
Polyamide: for industrial o vehicle applications, excellent durabilty, bio-based Semi-Rigid Polyamide (PA) Tubing Tubepack®25m  Polyurethane (PU) Ester Tubing Tubepack®25m  polyurethane (PU) Ether Tubing Tubepack®25m  Braided Self-Fastening NBR Hose Drum40m  Multitube (PA) Reel 50 m Fluoropolymer (FEP) Tubing  Tubepack®25 m
semi-rigid material, mechanical performance Oext. 0 int. Oext. | Qint. : 0 ext. | 0 int. i 0 ext. O int. A Oext. | Oint. Number Oext. | Oint.
’ ° o om o om | (s om) | mmy | ON o) ) 7 om) | @m | € oftues B oy | (o %
Polyurethane: excellent flexibility, up to 50% space reduction, excellent 2 10 1025P04 00* 4 2.5 10 1025U04 01* 4 25 | 12 1025U04R08* 1/4 13 | 6.3 60 1040H56 02* 4 27 35 4 1050P04 00MO04 4 25 1025704 00 25
hanical properties and chemical resistance 4 2.7 10 1025P04 00* 27 6 4 15 1025U06 01* 6 4 15 1025U06R08* 3/8 16 | 95 70 1040H60 02* : : . . .
mee ' . . - 4 27 45 | 7 1050P04 00MO7 6 | 4 1025706 00 HIDROES END. DONANIM SAN. VE TiC. LTD. $Ti
Fluoropolymere: robust engineering fluoropolymer, transparency for excellent g g 122 :ggg:gg gg* 13 2'5 gg :gigg?g g:* 8 55|20 1025UOBR08: 172 19 127 120 1040H62 02: 4 27 | 55 12 1050P04 00M12 8 6 1025T08 00 ' . ’ ’ ’ ’ . .
fluid visibility, optimum performance, resistant to nearly all chemicals and solvents * * 10 ! % 1025U10R08 5/8 23 1153 1140 1040H66 02 6 4 60 7 1050P06 00M07 10 8 1025110 00 TEKSAN SAN. SIT. E-5 BLOK NO:2 ODUNPAZARI/ESKISEHIR
' ' 10 8 50 1025P10 00 12 8 35 1025012 01 12 8 |35 1025U12R08* 34 | 27 191 170 1040H69 02* 8 6 | 45 2 1050P08 0OMO02 12 |10 102571200
% * . . . . .
Self-Fastening NBR Hose: designed according to CNOMO E07.21.115N, 12 10 90 1025P12 00* 14 9.5 45 1025014 01* 9% 16 1 45 1025U16R08 11* Available in 100 m length: part numbers 1100H... Also available in 10 m length: part numbers 1010P..M Also available in 5 m length: part numbers 1005T T:0222 228 13 67 - F:0222 228 13 72 — www.hidroes.com - info@hidroes.com
simplicity of installation, exceptional endurance, ready-to-use 14 12 116 1025P14 00 16 11 45 1025U16 01* 11 Also available in 100 m length: part numbers 1100U..R *Available in black (01), green (02), red (03), blue (04)
’ ’ 16 13 90 1025P16 00* 13 Also available in 100 m length: part numbers 1100U... *Available in black (01), blue (04)

Also available in 100 m length: part numbers 1100P...
*Available in black (01), green (02), red (03), blue (04), yellow (05),

grey (06)

*Available in black (01), green (02), red (03), blue (04), yellow

(05), grey (06)

www.parkerlegris.com
il E‘&]I

ENGINEERING YOUR SUCCESS.


mailto:info@hidroes.com
http://www.hidroes.com



